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Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct:
fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles
will result in zero mark in that question. Write PAPER CODE, which is printed on this question paper, on the both
sides of the Answer Sheet and fill bubbles accordingly, otherwise the student will be responsibie for the situation.
Use of ink remover or white correcting fluid is not allowed.

(D) (C) (B) (A) QUESTIONS Q-1

[—] =3 I 0
2 2 2 0 0 2 2.2) | caxiX ~1]=[0 J/; 1
0 2 0 2 2 2 2 0} L
-1 -2] 1 o
i X+ 0 -1 =h0 } |-then Xis equalto __

o Ay ~i3i+2) AT |

imaginary part of —i(3i +2) is

1 0 e 10 e brate L IRV I
The logarlthm of unity to anybase is _____

a+b (a + b)? a-b (a-b)’ _L,a,(JE+J_)(J_ Vb | 4
(\[54-\/-) (\/E—J_) is equal to....... ;
12 8 16 4 W burdrJE Rl +ax+md Zed /S ml s

Find m so that X’ + 4x + m is a complete square

a't-pt a-b az-bz az-g-b? - L,Pfh.’b"ub,a -b*sta +b2 5
LCMofa’+b? and a* -b* is
3 .
3 e Lo JL -2<x<T ail gy %
@ 0 3 -5 2

3
X = ___is a solution of the inequality ~2<x<5

1 I 1 v o e LGLUF (2,3 5| g
Point ( 3} lies in quadrant,
e (i <2y (0,0 (2,2) i dLak (2,2)0(2,2)68] g
Mld ﬂunt ofggle points {2 , -2} and (-2 , 2) is
S Sai B B & LB el G Iun S inl st g Ai| 10
; 4 If two angles of a triangle are congruent, the
Congruent Paralle! Concurrent Collinear ¥} iyoc opposite them are
et/ u S el b | 1
6 3 2 - L £ach diagonal of a paralielogram bisect it into
congruent triangles.
5 2 3 & t/(:ww Ur® sy Jf/c..q:"’-):?‘»] 12
Bisection means to divide into __ equal parts
oFi Lif Sl ot Sl L fol g s | 13
If two triangles are similar, the measures of
Congruent Concurrent Parallel Proportional |their corresponding sides are
I = 7 L The symbol of paraliel is etk Enginz | 14
A5k UGS N =H5 L | r__ atuig S (CEnNrus L s fA| 15
N If the three altitudes of a triangle are
_ACUte angIEd Isoscles R|ght EHQIEd Equilaieral congruen[l then the triang]e i5
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Answer briefly any SIX parts from the followings:- 6x2=12 _q)}f_-.guz/z‘&!zl {c.l,;fc.gﬂl,fj G 22
Define column matrix with example. ~Ldenty Sy 8 v dy (i)
7 -9 . 7 -9]
Find whether the matrix 3 5 is singular or non singular ?Jitﬁ‘L‘L st 3 5 _[ e (i)
345 A
Xyz - S <2, fe2 £
Simplify (m} A (iv) Simplify 2" + (5 )] -S4 i)
x X -
Find the value of x [08548=5 B 108548:‘5 /ﬁqfr:l”:.-.’gfx (v)
iflog 2=0.3010 log 3 = 0.4771 log 5 = 0.6990 log 3=0.4771, log 2 = 0.3010 /1 (vi)
find the value of log 30 -4 /=4 1030 Fiog 5 = 0.6990 |
3 3
xy-2z . o Xy=2z i
Evaluate —X;z—"—for x=3,y=-1,2=-2 ;.z_‘J—'-V*—~!:fx=3‘y=-1 z2=-2 )i (vil)
-
1 i . | I ;
If x—==2 find x' +— _L,:/r:'”.;.flfxd'!"—-;?r——:zft("“'}
X X X x
Factorize 3x’ - 75y* W75 g SUF (ix)
Answer briefly any SIX parts from the followings:- 6x2=12 _q)})’..-.pzf'f’étzs I:G-J/Lbdtzj s 23
Find L.C.M by factorization x* - 25x + 100 . x2 - x - 20 A U B (i)

x*-25x + 100, x2 - x - 20
Solve equation and check for extraneous solution +/3x + 4 = 2 Vix+4=2 -y Sy JJ‘IJUIJ;fq/J'/.;!;P (ii)

Define cartesian plane. _é-_.gﬁgfdf-‘u‘::!’ (iv) Find solution se -;_la_‘h h 2| —-4=11 Lo S (iii)

Find values of m and ¢ after expressing line in the form oL .J.'._/C;U;g_ﬂ y=mx+c/ 3x+ Y-1=0cbl- (v)
y=mx+c, 3x+y-120 LU S enim
Find the distance between the pair of points A(-8,1) , B(6,1)  A(-8, 1), B(6, e (A ond e 2 L L6 {vi)
Find mid point of the line segment joining pair of points E S e B iy fe 2l s (vii)
A0, 0), B(D, -5) A(0,0), B(0, -5)
_épl”.:..f % (viii)
0 Gme+10° 11
Find x° and m® in the figure. ad s 8 -cfr}“ut"-'uf m®uix® 2 F (ix)
Answer briefly any SIX parts from the followings:- 6x2=12 _;,,_’,Qf.,—_,p,z/‘:".ﬁlzl {c_,Jf‘.-_u:J_’.i Lo -4
Define right bisector of a line segment. - P ot L s 5 (M)
Whether 3cm, 4cm and 5¢m can be lengths of the 3 u'fl: i L?:ﬁugg)quaréu‘—uf Scmoddem.3emy” (i)
sides of a triangle? Give reason. S ol
Define similar triangles. _:—;’;_yfd’uﬁfqb' (iii)
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fill that circle in front of that question number. Use marker or pen 10 fill the circles. Cutting or filling two or more circles
will result in zero mark in that question.  Write PAPER CODE, which is printed on this question paper, on the both
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{D) (C) l (B) (A) QUESTIONS Q-1
9 6 -6 -9 it |2 6| _gthenx is equal to 1
—eslxdn |3 Xl. S
Noany U7/ | Kg r,er cm? X§<¢,| m < |Ratiohas unit. atrigber | 2
£ uou i 246 L | AU | e dnf undEtwinl Jrek ] 3
Scalen Right angled Equilateral {sosceles | A Triangle having two sides congruent is called __
4° 5 4 5 2517 4
5 4 5 4 (i"é] e
0 e 10 1 e tral Ao’ | s
The logarithm of unity to any base is
, ; at=bt. ¥ A= b’
. + . is equal to < sl
a-b (a +b) (a+b) (a-b) = q _ = B
16 8 -8 4 ‘Q’g_bud/d'(xz+4x+mL£JJ(Jm 7
demm s + 4x + m is a complete square ——
b 4a+b 4a-b 4a Cn,, O ” a__, 1 | 8
bl bl ‘-; I.;-)l 2
9a* - b? 9a? — b’ 9a* - b’ 94° - b? I L Sy RV
2 | simgif D et
Imol 3 =
“ Y97 -b? 3a-b
% 0 3 -5 _4i}‘f—uf5_1jh’:,:d’£~2<X<%.-,uu,fx=-_ 9
K ¥ 3/
& H“" ¢ | x = —~ is a solution of the inequality — 2<x< /2
(1,1) (0,0) (1,0 ro,,pr —e dz(x, Y) P (x 0= (0, AR
Ta If(x, ) =(0,y),then(x, y)is
0 ) 1 B e LGyl (1,140,046 | 14
Dlstance between points {0, 0) and (1, 1) is
— N et Veiged Lo (1- l)uwnﬁuﬁu 12
I = g The symbol used for(1-1) correspondance
between two triangles is
B S il LA Sy Syl ats | 13
Coliinear Congruent Parallel Concurrent |Medians of a triangle are
-y 2wt J’td:}i T _Ll'ﬂéh{____&b'_;ﬁu”uﬁ,'-fwfdslzc.UJ/Z.L)'.J;J}BJ—{[ 14
Median Perpendicular | Right-bisector |  Bisector | point equidistant from the end points of 2
line-segment is on its
6 cm’ 36 cm’ 18 cm? 9 cm’ o 3¥ ]3(%’" 15
[ The figure cm  has area --—- |

N

919 - 0918 - 60000 ( 3 )

SGp0-9-1-18



-

_;_;‘_"U R L /" Ju iz 24 e —Ey (¢ =*lz) 0%
(1) 2oL §s i (2014-16 to 2017-19 ) CED UL
50/?%.}/ (‘-;dfuzﬁ) ‘ 312.10 L=y
Part [ 1 1 R >

Answer briefly any SIX parts from the followings:- 6x2=12 _q)}fal,m/"—"&zv 1’:.43];.@{)"3 Lo 22

Define matrix.

Simplify [1_55“} JA i) s
e

. Find the value of i

Express in scientific notation 0.0074
Define binomial surd. -/ 2 e B (vi)

‘
Rationalize the denominator m

Factorize 3x - 243x°

Answer briefly any SIX parts from the followings:-

Find H.C.F by factorization x* + 5x + 6 . x? - 4x - 12
Solve the equation and check for extraneous solution
V2x—-3-7=0

Define collinear points. .25 _y /({15 (J,;‘(-')/’E’f (iv)
Find values of m and c after expressing line in the form
y=mx+c 2x-y=7

Find the distance between the pair of points
A9, 2),B(7,2)

Find the mid point of the line segment joining pair of points

A(2,-6),B(3,-6)

If two angles of a triangle are 90° and 30° what will be the

value of 3rd angle.

gk

SIS IE )

(8 s 2 3 (ii)
Multiply | ¢ 4 o 31 LI 4

IS0 (v

2l A 00074 ()

Define Common logarithm. _L{f\_.éf,;Jﬁb”;’rl; (vi)

Ny —Jfﬁ (viii)

UG£ 3x- 2435 (ix)

6x2=12 -y S fez ALz s e e B dstn -3

X4 5x+ 6, X0 - ax- 12 b f o A

S SSABG g S S o i)
V2x-3-7=0

Find solution set [3x - 5| =4 _./ e F (i)

Ml S8ty =mx+cf 2x-y =7 2lsl (v)
-;_,ffr#”uf‘-itfc

A9,2),B(7,2) Z P lebgunlc 2l b6 (vi)

B YW e 22l L (vii)
A@2,-6),B(3, - 6)
sie 2 FUn30° i 90° i S ugstin L wtz N (viii)

46; lfﬂﬁ’J

Infigure find M£l= mZ2=

milz___ ml2z L epe gt B ix)

Answer briefly any SIX parts from thé followings:- 6x2=12 -u_’/(ﬂ:,ylﬂ/‘?ﬂizl 4 .:_{jfc:.. u:'.'di Lo -4

Define right bisector of a fine segment.

Whether 2 cm , 4 cm and 7 cm can be lengths of the
sides of a triangle? Give reason.

Define proportion.

State converse of Pythagoras' theorem.

~ind the value of x.
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